5.13()~5.19(8h =2ct2l 7He} #A &g AlZtE (D SEm 18H)

TE Al +& 5.13.(F) 5.14.(%) 5.15.(=) 5.18(&) 5.19(H)
minl = (H&IT) SIE(Hst2) SEAZ|(Z7Eh) SEIEH(AHY) +E(F YY)
- =5 = = AH ZEFR{ Al i
sAER o|stn Wt Elﬁﬂ_/ﬂ*ﬂgp%éﬁr CH 27A 7};9\1 7t HEd M A|AEIO| 7|2 EH %!ﬁ@l g5 I9_| aeHEZ et
08:50~09:40 [ x|
i Pad ebs2Et2IZ2HA ebs 22tQ1ZeHA ebs 2221 Z2i& ebs 2221 Z2i4 ebs22t21Z 9|
TEY | staug Yol Y B8t EEAAIT 2R 2819 234 HRUEl | 2atel FaHA HRUE| SRR ES]
o Z17x(o1&0i) Bo{(HEY) SHIAE(FSR) SEALZ|(ZIREH S (AAe)
i . HOd i) 3} st
stasxl | RUSEI(R0L ob5) | AResqution for the New xi7ol Hat 2Br® NI sjazel | SB ALYl B
09:50~10:40 [ 22,
ZHA ebs FRLS FolS B ebs 2221 Z2|Module 4) ebs 2221 24 ebs 2221 24 ebs 2221 S~
TEY | g BES GBe gz | SIMEHFISHHE | eatoigaa sRUEl | 28tel S3A AHRUEl | 22tel 214 HRLUE
minl Er = AH(EIFrEh) TEH(FUY) Bo(HED) =(EFHYY) M (ENY)
sazs | 2@ =R GERIEEe] | oIEEAR OIREELl | ynit 1. Wrap up oIzt Alol T2y Q&rLs 3 RARA Efte}
10:50~11:40 | 23|
ZHx ebs 220l EeliA ebs22t01Z 9| ebs 22+21 Zo|(Wrap up) ebs22l01Z 9 ebs22t2l EaiA
D= | 2ael 234 HRUE SHERES] SEAE-RAgU Hel = SOI2RZ 7| AHHY
ot =$0{2(&st=) SEALEI(EFCH) Br=AH(EIYFCH) =041(0|T4%) AHE(OITE)
sard | AERINLHD, |rensze A= | suocsn R yy | Q) LENIM/ARY NERSYY
11:50~12:40 | xf%
zeix | ebs BB Fn T ebs 22t0! F2f& ebs 22t0! F2f& ebs 22t0! F2f4 ebs 22t0! Faj4
=
=[N RE] 2al0| ZajA
T= B Wt gatel Fai4 HRUEl | 220l B2 HRUE| ebs SPLG HEHS ebs R B




-
g | 3 o | #r - o [}
N 3l | & W | @ w
8|2 || § = R E(R[E|S 4| d
s | J|* =R g |®%| @ | 3 B |0 | m o
| g | LR R
o [¢) [s)
o |x | ¥ S |z |@ .
o < M Wl ] o | mu
8 | o
ol 3 =
o ol
_ | -
% g | o [# - ~
I _ | | & ) " @
N + = e | olE - X0 uw____ o =
N G |9 | = o | ® | W 25| o
°|4|\ B I_._.LI HE _...ﬂ L === __oo = > NN _._._._
m ..2L O_ oK 3 =) b~ ok o < .Am___ o
50 = TR = =< ol ) N [ |
S| g | o < lam | T |e wo | B |3
% Mo.m o iod ol 0 = NY - TS
X % | 2 = | n R |
i 218 | % N | ow | |
Ho 0 T o0 | ®=X
L o 20 1
o~ | = ol 9] =
.:.._lﬂw .nw_ o
| FEY
0| o | <K o
5 | wer [RH | S — i <
L R e 5l B (2™ 5 T
S o5 |28 | @ |2 |2 A
;Em__gwaaw_aﬁ@n
Koy | > 0 H o - = ol ol H0
S 0 | @ L ol | & | X
1 (0] i o u.Mo il i
1 ol [} _.__o.ﬂ Qﬂ_\v _oo
3
_ | W w
3 |a |3 & o 5
wﬂ _Aﬂ =._=._ I:-/I = |.M|_ Ty [= _AO
¥ | 3 L] 5 | 9| Z o <
E | R ol | 3 = o | W SH| @ N R
= N T 18 [= |3 2 | Bz | m =
A I 8 1% % |52 g o | |2
(2] —_— = ~ ~ — T
IF 3 ol 3 OH ol | X 5 .M__n M omm
1] = E = TR
ol 4 [~ | Sl e | @ ||
— Ok ) Dig 2 |3
Mv_ °© N o o
& S
T -
s |= |2 z my
AT 2 N = K w
B N Wo ™ Sl JII_ < 1
) - | o | M 2 = | D e
2 |lom | T | g (Zm|m T
A oH = |aM |3 |
Pl ol A U A
Sfo | © W o L | o l
_|_.A|.4|._. (1] < i
X - 8 | o
ol Ll [} il
) ol
=) W_. K
I =
= T = o 3
A .Ar_HH ir! i} = _M_Al K| =
ol m = N z =
= m_ 4| Tl . K
dn ul = K Kl | =
ol _._..E ey _lu_ _l = T
5.|_.M. _ ol Ml =1
o=
o ® 7“
D K
< o
\ N
wn o
] < N
& & ©
< o
1 2
n
-




